
PROXIMITY SWITCH
TUTORIAL



2 WIRES PROXIMITY SWITCH
NORMALLY OPEN

EXAMPLE OF PRODUCT 84 792 000



2 Wires Proximity Switch normally open



2 Wires Proximity Switch normally open



2 Wires Proximity Switch normally open

I = between 1 mA and 3 mA

V = 28 Vdc

V = 0 Vdc

I = between 6 mA and 12 mA

V = 28 Vdc

V = 0 Vdc

Normally Open (NO):

i.e. when target is far there is no 
current (zero current) in the 
switch.

Because of BIT, current is close to 
zero through the switch ~ 2 mA.



2 Wires Proximity Switch normally open
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3 WIRES PROXIMITY SWITCH
NORMALLY CLOSED

EXAMPLE OF PRODUCT 84 793 050



3 Wires Proximity Switch normally closed



3 Wires Proximity Switch normally closed



3 Wires Proximity Switch normally closed

Normally Closed (NC):

Output conductive when target is in de-actuation area

i.e. when target is far there is current in the switch thus V out ~ 0 V.

Output ON

Output OFF

Load current = 100 mA max

V = 28 Vdc

V = 0 Vdc

V = 28 Vdc

V = 0 Vdc

Vout = 0V
(1,5V under 100mA)

Current consumption= 10 mA max

Load current = 0 mA
(15 µA – 50 µA)

Vout = Vs

Current consumption= 10 mA max



3 WIRE CONNECTION  NPN 
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3 Wires Proximity Switch normally closed
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Microcontroler
(example)



3 WIRES PROXIMITY SWITCH
NORMALLY OPEN

EXAMPLE OF PRODUCT 84 799 117



3 Wires Proximity Switch normally open

Normally Open (NO):

Output conductive when target is in actuation area

i.e. when target is near there is current in the switch thus V out ~ 0 V.

Output ON

Output OFF

Load current = 0 mA
(15 µA – 50 µA)

V = 28 Vdc

V = 0 Vdc

V = 28 Vdc

V = 0 Vdc

Vout = Vs

Current consumption= 10 mA max

Load current = 100 mA max

Vout = 0V
(1,5V under 100mA)

Current consumption= 10 mA max



3 Wires Proximity Switch normally open

Microcontroler
(example)
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FOR  QUESTIONS  :
www.crouzet.com
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